Name:

-

L Special Numberj

~

The special number is

60,812

even odd

The value of the digit 2 is

The value of the digit 1 is

The value of the digit 8 is

The value of the digit O is

The value of the digit 6 is

Fill in the empty boxes on the number line.

Preview

Please log in to download
the printable version of this worksheet.

1,000 less than 60,812 is

10,000 more than 60,812 is

100 less than 60,812 is

61,810

60,812

1 more than 60,812 is

60,812

10,000 less than 60,812 is

62,802

Compare. <, >, or =

60,812
60,812

60,218
60,812

Super Teacher Worksheets - www.superteacherworksheets.com




ANSWER KEY

-

L Special Numberj

~

The special number is

60,812

The value of the digit 2 is

The value of the digit 1 is

10

The value of the digit 8 is

800

The value of the digit O is

( evenf) odd

The value of the digit 6 is

60,000

Fill in the empty boxes on the number line.

Preview

Please log in to download
the printable version of this worksheet.

1,000 less than 60,8121is __ 29,812 Compare. <, >, or =

10,000 more than ¢0.812is 70,812 | 61,810 | > | 60,812
100 less than 60.812is 00,712 60,812 | =1 60,812
1 more than 60,812is 60,813 60,812 | > | 60,218
10,000 less than 60,8121s _ 20,812 62,802 | > | 60,812

Super Teacher Worksheets - www.superteacherworksheets.com




